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_0.0040 mol of NO and 0.0030 mol of O, are introduced into a 1.0 L flask, and the reaction

2NO(g) + 0:(g) = 2NOx(g) occurs. At equilibrium, it is determined that [NO;] = 0.0035 mol/L.
What is the value of Keq for the reaction?
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2. 0.020 mol of each of SO;, Oz, and SO is placed in a 1.0 L flask and allowed to
come to equilibrium. The equilibrium [SO] is found to be 0.0080 mol/L. What
is the value of Keq for the reaction 250:(g) + O:(g) = == 2504(g)?
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A solution initially contains 0.35M of A and 0.75M of B. A reaction occurs according to the

equation 2A + B == 3C + D. At equilibrium, (D] is found to be 0.10M. What is the value of Kgq?
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a. Showthatthereacnonisnotatequilibnum.
b. Determine the direction in which the reaction will shift to reach equilibrium.

¢. Calculate the equilibrium concentrations of all four species. ’{
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5. The Keg for the reaction 2HIlg) = Ha(g) + L(g) has a value of 1.35 x 10™* at 425°C. I 0.18 mol of
Hl is placed in a 2.0 L flask and allowed to come to equilibrium at this temperature, what

will be the equilibrium [L.]?
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6. For the reaction 2A(g) = 2B(g) + Cls), the value of Keq is known to be 68 x 10. If 0.42 mol of A
is placed in a 3.0 L container and allowed to reach ethbnum, what is the equilibrium [B]?




